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REP | HRBEMH| Wit |EEREAMERERERE ISR | B4 & 4HA 2 4HR 47 47 st 00 1 AbEAR 1.36 0.09 4HA
REP | HEBETH| Wik |EEEAMERESEHSHIEERT | BS & 4ER 1S 4EHA 40 40 [t 105 1 ABEAR 1S 1EHR
RED |HFBEMH| Rk |[EREACCEEFREELERE 2PEERIRIR SUMEHR [El{EHA C 56 56| MR —MEABTRI 4 [ 0.13 0.48 0.21 6.57 23.4 [El{EHA
HEP | EBEW| Wk |([EREANMMCSFBISELRKR 3PETERIR [E{EHA [Cl{EHA 40 40 | v-saomaki . | 0.05 0.05 [E{EHA
RE | ERHEH| Wk |EEREANCEEREELRR 2PEFEIRR [EI{EHA [El{EHA 34 34 BB V7SR 1 [El{EHA
REP | HFBEM| Wk |[EREACCESERISELE R 3PEERIRIR & 14HA 1€ M4HR 60 60 |BEERRARTA 1 0.02 1S M4HA
RED |EFRBEM| Rk |[EREAMEERSEHEBERKR |SUMEH—ARER SUMEHR SU4EHER 60 44| 2 EER— AR ABEAL 1 0.27 1.07 4.66 40.0 SRR
RED | EHBEMH| Rk | HERE 1 PERAR & 14HR ANBR/ARER 46 46| MO NBA/ARER
RED | HBEM| Wbt SRS 2P&TE SU4HR SU4EHR 52 38| 2R — AR BT 1 0.13 0.05 0.45 0.53 10.13 | 35.0 SMEHA
REP | HBEH| Wk |FHRSH 3fEFE S4HA S4HA 52 46| 2R —AR A B4 1 1.11 0.37 0.28 0.02 4.70 1.78 0.37 0.11 11.67 45.6 S4HA
RED | HBEM| Wb SNBSS 3PEER SMHR =ESEHA 52 44| 2MHA—M AR 1 | 0.61 0.02 0.02 1.43 0.73 0.16 | 10.36 | 34.7 |SESMEH
RED | HBETH| W (|SHESRER ABEER SR =E SR 52 46| 2MHA—MEARERI 1 | 0.11 0.09 0.07 1.52 0.35 0.04 | 12.43 | 24.3 |SE2MHH
RED | EHBEM| Wbt SRS SREER SU4HR SU4HR 52 SO —MeABTRl 1 [ 0.32 0.06 0.10 0.60 1.20 10.52 | 23.3 SMEHA
REP | EREH| Wb |SFHESKR i & 4HR ANBR/ARER 50 O | —AemARIBI A PR AR ARBA/ARER
REP |EBEH| Wb |SHESRR SPETE i (S%mEe) | ANBA/RER 40 O|#M@ZEH ARBA/ARER
RED | HBEM| Rk |[EREALEEMSEMPRRER 2FJRHR SR [El{EHA C 47 33| mams 7 A mEm S 1 0.09 0.45 0.06 6.91 10.1 [Cl{EHA
RED | HBEW| Wk |EEEATEEBEESHE BRERIRL (=lEat 1S 14HR 35 35|EEREARA 1 2.57 1814HA
REl | HEHSH| WA |AKITHER S HAMERRRARO L SMEHR [Cl1EHA C 48 40|2MEA—MRABZRI 5 | 0.10 0.08 0.68 0.48 8.90 27.2 [Cl1EHR
RE | HBEMH| R |[EREACEMEELRE BAVTRAR2FSA | 2MEHR 1S 14HR 30 30|#BANT IR AR 2 1S MHA
RED |HBEMH| Rk |[EREACCEEEELERE 2FOFEND 1S 14HR 1S MHR 54 54 [(FERERE AR 1 1S MHR
HEp | EBEW| Wbk |[EREANMCSEENELERET 3F&<5 (=Eat 1S 14HR 54 54 (FEEREARE 1 (=lEat
RED | EBEM| Wbk |BESPHIERT> Y- ICU-CCU BESMHE | BESME 9 O [My71zy b ABREE A 1 21.56 EESUEA
REP |EBEH| Wbk |BFREHIIERESS— NICU =EIEH | SEREH 7 6 [ emEEEn 2 6.17 0.17 =ERMEH
EEP | EHEM| Wk |BBEhIIEERTS Y- GCU EESEHE | SES4H 6 6 |memammEE A mEmEy 0.17 0.17 EESME
REP | EHSH| Wmhk  |BFEHIHIIERE Y- 4 AL SEHA [CI1EHA C 32 30| MEA—ARARTR 1 | 0.07 0.03 1.00 0.40 0.03 0.30 4.87 22.8 [EI1EHA
REP | HBEMH| Wk |BFESTIERTS Y- 4 B&ma SUMHR SR 34 4|2 MER—MARTR 1 | 0.24 0.12 0.94 0.03 2.09 29.2 SMEHA
REl | &EHSH| Wb |BEHBMIIERTS Y- 5 B&dE S4HA [Cl1EHA C 36 36| MEEA—AE ABTA 1 0.03 0.06 0.06 0.50 7.56 24.2 [Cl1EHA
REP | &EHSH| mhk |BFESMIIERTS Y- 5 P& 24HA S4HA 51 49| 2R —AR AT 1 0.12 2.08 0.06 0.08 1.39 6.88 24.7 SMEHR
REP | EHSH| Wmhk |BFEHIHIIERE Y- 6 Bk SHA S4EA 45 34|22 4RA—AE AR 1 0.06 0.09 0.09 0.44 0.09 13.15 32.3 SU4HER
REP | EBEMH| Wk |BFESTIERTS Y- 6 F&FE S4HR =E SR 47 46| 2MHHA—MEABEAI 1 | 0.85 0.54 0.30 2.87 0.85 0.54 0.17 2.24 2.30 35.2 |EEAMH
REP | &EHSH| Wb |BFEHSMIIERTS Y- 7 P&k S4HA S4HA 47 47 | 2R —ARABTA 1 1.04 0.47 0.40 3.06 1.40 0.47 0.06 0.28 7.74 39.0 S4HA
REP | &EHSH| mhr |BEHBMIIERTS Y- 7 B&m 24HA SI4HA 47 47 |2 4EA— AR A BT 1 0.60 0.11 0.43 2.28 2.91 0.11 0.02 0.57 4.77 35.7 SMEHR
HEp | #wT | Wb [METHIDRE Scu EESMH | RESMEH 3 3|z A rEREEs | 2,67 1.67 1.00 8.33 5.00 EESEHA
RED | WeT | Wbk [EEThiDw 3818 SU4HR SU4HR 51 45| 2 — AR ABEA 1 0.02 0.02 0.04 1.31 0.16 3.47 30.5 SMEHR
ERED B bt (MBI 4H1H SHA =E S 50 48| S 4HEA—AR A BT 1 1.96 1.15 0.38 2.23 2.44 1.15 0.17 0.60 1.10 48.9 |EEZR4HA
RED | HaT™ | Rk [#BETHIDRE 4828 SUEHR SU4EHR 46 352 A — A AR 1 0.94 0.37 49.5 SEHR
RED | e | Rk [BEHIDRR 5A1H SR [Cl{EHA C 50 49| 2 MHEHA— AR ABEAY 1 1.27 0.76 0.04 0.63 1.55 22.9 [El{EHA
RED | Wa™ | Wbk [METhIDw 5H2H S4HA SU4HR 50 49| 2 MHA—AEABEA 1 | 0.94 0.27 0.35 4.94 1.22 0.27 0.04 1.86 1.29 47.6 SMEHA
RED | WaT | Wbk [#ETHhIDR 6818 SUMHR SU4EHR 50 47| 2HH—RR AR 1 | 0.96 1.09 1.66 0.43 5.49 36.5 SR
RED Ham fwbe (MBI 6H2H SMEHR S4HA 38 37 |2 EER— A A B4 1 0.03 0.08 1.84 0.27 0.54 9.05 32.1 SMEHR
RED | e | Rk [BETHIDRER 7818 SU4ER [El{EHA C 50 49| 2 MEHA— AR ABEAY 1 0.55 0.02 0.04 0.43 2.04 22.0 [El{EHA
REP | He™ Rk (eI 7H2H SU4ER S4EA 40 22|/NEAREREEN 3| 0.45 0.09 0.55 0.82 25.6 S4HA
RED | WaTh | Wbk [EEThiDw 8H1H SUM4HR SU4HR 50 17| 24— ABEA 1 14.41 | 23.6 SMEHA
REP | BaE™ | Ak [#ETHIDER NICU =R =EREHR 3 3 [prermEstansEEn 2 3.33 0.33 =ERMEH
RED | Ha™ | Rk |[EREAMERESESRE 2ATRIR [El{EHA [EHEHA 50 50 [wesmne 752 ABA 1 [El{EHA
REp | Ba™ | Ak |EEREAMERESHESRE 2BJRIR &14ER 24HR 44 44 [mstins 100 1 AbRAR 2.73 E145A
RED | HaT | Wk |[EREAMERESFESRET 3ATRIR (=lEat 1S 14HR 47 47 | EERIR AR 1 20.43 1S M4HA
RE | AT | Kk |EREAMERESHESRR 3BJRIR & 4HR & 4HR 47 47 |mEstbiesi0 1 ABREAR 8.85 1S14EHR
RE | wa™ | Wbkt |V\EUT-23 KRERE AJRIR [Cl{EHA [El{EHA 59 5O |EHERpIe v7-sa AR 1 [El{EHA
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R | EAS B ERRRE RE | 1EEROR) e B | e |2 it (BT |y (BERY | gy [BOIISE | it |ommtcies | Tl B e (Lt | (708 gy (25 e | HATHER
BEsRES k) TR | TR | il |, 2 I Al st e S e | B loxs [remmes | (F8)
I1:31%
2.0 0.5 0.5 0.0 0.0 0.0 0.2 0.2 8.0 2.0 0.1 0.1 1.0 10.0
I:29%

R | #a™h | Wk |V\EUT-a>KERR B AR [Cl{SHA [El1EHA 60 60 | U753 RN 1 [Cl{EHA
RER | #u™ | Wbk |V\EUT-23 KERE CRtR [Cl1EHA [El1{EHA 56 56 | v5-sa AR 1 [Cl1EHA
REP | mah | Ak |EREAHEER LS TERR 2B 24HA SI4HA 55 53| Hhigk— s ABTA 1 0.02 0.06 2.53 0.40 0.49 1.08 33.2 24EHA
REP | ma™ | Ak |[EREAHEERE LS TERR 3PERER & 14EHA T 14EHR 47 44 | 1350 1 AREARR 4.98 0.11 0.82 0.30 EF 8 14HA
REP | Mu™ | Bk | BHRENKESEERTS - A2 EESMH | SESME 24 20(#anfS A BT 1 0.15 2.15 5.60 0.20 19.95 =EE 4R
RE | Ma™ | Wk |BHRERNAKEREERTS Y- ERICU EESMH | SEMHE 18 14|anf APt 4 0.86 3.00 0.64 | 27.86 | 2.29 47.86 EE SR
REP | AT | Ak |BRERAKFSERERT> Y- HCU =2EIEH | SERIEHE 8 8| EEaR=EEN1 | 7.38 1.50 1.63 1.75 | 20.38 | 8.38 1.50 1.00 =ERAER
REP | ah | Kk |BHRERAKEEEERT - SCU EESME | EES4E 18 18wy AkEREES | 1.06 0.11 0.28 0.28 1.94 8.56 1.61 3.78 EESME
RE | AT | AWk |BRERAKFSERERT> Y- NICU =EIUH | SEREHR 9 Olpicemremamzmenz | 0.11 0.11 1.67 0.11 0.11 =ERMHA
REP | Mu™h | Wk | BHRENAKESEERTS Y- MFICU EESMH | SEIME 9 3 [eemmmmrnrensmen @umn 0.33 EE SRR
HE | e | Wk |BHERKFEEEERET Y- GCU EESME | SESM4HE 24 O | msamerEs A mEmERE EES4EA
REp | maEH | Ak |BRERAFRERERTY- GICU EESMH | BESMEH 10 3[E AR 1 3.00 EESUEHA
REp | #a™ | Wk |BRERNAKESREERT Y- c4 S4HA S4EA 36 26|24 R —AE AR 1 0.31 2.88 37.8 SHA
REP | Mu™ | Wk | BHRENKESEERTS Y- F3 S4HA =4EHA 33 33| 2HEI—MEARA 1| 0.42 0.36 0.15 6.70 0.64 0.36 0.06 2.15 44.8 S4HA
REP | ma™h | Wk |BHRERNARKEREERT Y- B3 24EHA SU4HR 17 17| ME—mg ARl 1 | 0.18 0.18 1.35 3.29 24EHA
REP | a™h | KWk |EHRERAKEEREERT - A6 SU4HR =EES4ER 54 S4|2MHEI—AR AR 1 [ 0.04 0.09 0.13 1.76 0.46 5.50 28.3 |=EESM4HA
RE | Bah | Wk |BRENAKEEEERT Y- B5 SHA [El1EHA 54 S4|2MHA—ARARTAL 1 [ 0.02 0.07 1.44 0.31 0.17 2.87 12.0 [Cl{EHA
RE | u™ | Bk | BHRENKESEERTS - E4 S4HA S4HA 45 45|2ME—m AR 1 | 1.73 0.16 4.71 2.20 0.29 0.71 3.91 36.1 SHHA
HEp | et | Ak | BRENAREEERE Y- A5 SR SE M 50 30| EER—AEARERY 1 | 0.13 0.03 0.07 | 0.57 | 0.57 0.03 | 1.47 | 7.30 | 23.4 |SE2MH
HEp | et | Ak | BRERNAREEERT> Y- F4 SR SutEHR 45 A5| 2R AR 1 | 0.31 0.02 0.18 | 7.29 0.24 | 3.38 | 17.2 | =it
REP | ma™h | Kk |BHRERAKEEEERT - E5 SHA =E S 45 45|24 B—m ARl 1 | 1.07 0.69 0.40 9.80 1.44 0.69 0.62 4.11 44.2 |SESMH
RE | Mu™ | Bk | BHRENKESEERT - B6 S4HA S4HA 54 54|22 MHI—AR AR 1 0.41 0.02 0.70 2.09 0.04 0.96 7.63 37.3 SHHA
HEp | wmeT | Ak | BRENAREEERE - A7 SRR SR 51 512 MEEI—AR AR 1 2.84 | 0.06 0.12 | 3.37 | 4.14 | 26.8 | =i
HEp | weT | Ak | BRERNAREEERE> Y- F7 SEHR SERH 45 A5|2E—AEARAL 1 | 1.07 | 0.36 | 0.76 418 | 1.38 | 0.36 | 0.11 | 1.09 | 2.80 | 32.5 |=EEA4H
REP | ah | Kk |BHRERAKEEREERT - B7 S4HA S4EA 52 52|24 —fR AR 1 0.65 0.06 0.02 2.29 3.00 21.5 S4HA
REP | Mu™ | Wk | BHRERNKESEERTS Y- F6 SHHA =E S 45 45|24 —me ARl 1 | 2.09 1.84 2.42 0.02 0.33 2.07 45.0 |EE24HA
HE | wmeT | Ak | BRENAREEERE - F5 SR SE M 45 4A3|2EA—REARARIL | 1.16 | 0.44 | 0.56 3.70 | 1.53 | 0.44 | 0.07 | 1.74 | 233 | 33.8 |SE=M4H
REP | mah | KWk |BHRERNAKEREERT - E6 SEHR SU4HER 45 45|22 B —m ATl 1 | 0.87 0.02 0.44 1.04 1.64 0.02 0.02 0.53 2.07 34.3 24HA
HEp | Hia™ | Ak | BHRERAFEEERTS Y- E7 SR SutEHR 45 A5|2IEER—RR AR 1 | 1.07 | 0.31 | 0.24 331 | 1.56 | 0.31 | 0.02 | 0.96 | 4.22 | 42.9 | =itH
RE | Ba™ | Wk |BRERNAKFEEEERTS Y- A4 SHA S4EA 42 41/NBARREZREER 2 [ 0.90 0.12 0.10 0.90 0.12 2.10 SHA
REP | Mu™ | Ak |EEEAEAXRFISERER 1 SHR2 &R S4HA [Cl1EHA 38 36|waEsrAnERsEN | 0.14 0.14 6.58 22.6 [Ol{EHA
REP | me™ | Ak |EEREAEARFSERER 1 SER3 &R 1 14HA & 14HA 36 36 |mEzimrs105 1 AREAR 1.67 0.08 0.39 =4HA
REP | e | Ak |EEREAMERAIISERER 3SR2MEIMRER | B MEHA & 4HER 42 42 | 103 1 AREAR 0.10 0.12 0.05 8 14HA
REP | Muh | Ak |EEEA AR RS IR 25RER SR S4EA 36 36| —AxARTAL 1 | 1.89 0.25 0.14 2.94 2.08 0.25 0.08 13.97 52.2 SEHA
REP | Ma™ | Ak |EEEAMER RS IR 3JmtR S4HA S4HA 36 36|24 —ME AR 1 | 0.50 1.72 0.69 0.03 17.44 | 37.1 S4HA
REP | ma™h | Ak |EEEAMERG RS IR 4JRIR 24HA SI4HA 36 36| M4ER—AZ ABTAL 1 0.53 0.19 0.06 | 16.58 | 38.4 S4HA
RE | e | Ak |EEEAMERG RS HRIRET SRR 1 14HA & 14HA 40 40 |t 104 1 AREAR 1.63 0.05 8 14HA
REP | Muh | Ak |EEEA ARG RS R 6IRIR 1 14EHA & 14HA 47 47 [EERE AR 1 0.45 0.09 0.02 & 14HA
REP | Mu™ | Bk |EEEATERESRER S HRAtEERRR 1 SHA [Cl1EHA 43 25 |Hhigk—A% ABTA 3 0.04 0.52 1.24 [El1EHA
REP | Mau™ | Ak |ERARERRR EmAR [Cl1EHA S4HA 50 50| Hbig—% ABTAd 3 1.84 S4HA
=ED | weT | Wk | SRR e oo | ZEHR [ElEHA 48 28| 2 —Mm AR 6 | 0.21 | 0.07 | 0.07 3.39 | 0.25 | 0.07 0.36 [E1EHA
R | a™ | Wk |[EREAELSEBERSMERSRRE (RHEETEAEREE | SEIM | SESMH 4 4|1rEeramsgEEy3 [ 1.75 0.50 0.50 1.75 6.00 5.25 70.50 EESMEE
REP | Muh | Ak |[EEEAELSIESEREMERSERR | AR S4HA =E S 36 30|24 —Mg AR 2 | 0.93 0.03 0.10 2.93 7.53 45.1 |EE24HA
REP | e | Wk LAY RRIT 3BERER S4HA =E 24 53 53| Hbig—% ABTAd 2 3.23 0.66 3.34 0.79 EE SR
REP | JVEIM | WAk |EREAMER R SEEEAERR 5 AJR1R [Cl{SHA [CI1EHA 34 34 |t e Es PRAR AR 4 [El1EHA
REP | TR | e |EREAMERRSEEELERE 1 AJRHIR 1 14HA & 14HA 33 33| EERRARA 1 8 14EHA
REP | M | Ak |EEEA AR RS EEER 2 AJRIR 1 14EHA & 14HA 34 34| EERFEAGA 1 &14HA
REP | JVEM | WAk |EEEAMER RS EEAER 3ARR 2 14HA & 14HA 34 34| EEREALA 1 0.18 E4HA
REP | TR | e |EREEAMER R SEEEAERE 1 CHRHR 1 14HA & 14HA 40 40| EERIEA BT 1 8 14HA
REP | TR | Wb |EREAMER R SEEEAERR 2 CHRtR 8 14HA & 14HA 40 40| EERIEABAY 1 8 14HA
REP | M | A |EEEA AR RS EEAER 1 DJRIR 8 14EHA & 14HA 38 38| FEERIFEARAL 1 0.79 &14HA
REP | JVEM | WAk |EEEAMERARSEEEAER 2 DARtR 1 14EHR & 14EHR 58 48| EERIEARTA 1 & 14HR
REP | TV | Wb |EREALEMN LSRR A 24HA [CI1EHA 60 60 [Ihigk—s ABTAd 3 0.02 0.37 [CI1EHA
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e e e LERROR| e B | e T igppan e BB ey | BINEPS e b (BB | o oot omms| F5 |10 i (e |[CT 08 (g (o | DHTHR
REIRES RE) e e Ff o Sl : L S zEE  |HES - s (BE) (prs |ymeae (F518)
I1:31%
2.0 0.5 0.5 0.0 0.0 0.5 0.0 0.2 0.2 8.0 2.0 0.1 0.1 1.0 | 10.0
I:29%

BED | J\ET | WlR |EREEAERGERSN\EPREESREE [3ARR SUM4HR [El{EHA 50 50| MR —A ABTAY 1 0.10 0.44 0.38 25.4 [Cl{EHA
BEP | J\VET | bR |[EREEAERGRSN\EPREESREE [4ARR SMHR SUM4EHR 50 S50(= M —#ABTAt 1 [ 0.60 0.18 0.10 1.46 1.12 0.18 0.18 33.2 SUEHA
RHEP | NET | bR |[EEREAMERRS/N\HRRGESRIT (4BRR SR S4ER 32 20|22 MEHR— M A BT 1 0.10 0.05 36.7 SUMEER
RED | BT | Rk |EEEAMERGRS BRI ERE |3BRR SR SU4HR 54 54 (2R —MeABTR 1 [ 1.28 0.26 1.78 34.3 SUEHA
REP | J\EH | Rk |EEEAMER RS/ BRI ESRIT | SARER [El{EHA [El{EHR 50 50 |BHEHRIIE v7-5a AR 1 [El{EHA
REP | VAT | bR |EREEAMERGRSN\EhREESRER [40RR & M4HR 1214 HA 14 14|4BA0T PiRIR AR 2 1S 14HA
RED | MMRET | R |[EREAMESCREERRRRR 2 AR SUMEHR [El{EHA 56 36 [k —AE A BT 3 0.11 2.64 0.33 0.17 3.64 [El{EHA
RED | MMAET | R |[EREAMESCRE R 3 AR {=Eat 12 14HR 112 32| BEEREALR 1 0.53 0.13 0.06 (=Ea -t
RED | MMAET | R |[EREAMESCRE R 2 ByRiR (=lEat 1S 14HR 53 30| R BT 1 1S 14HA
REP | MMRET | B | OEBEE Y- AR & 4HR 1E4HA 36 35 |t 108 1 AREAH 0.86 1S 14HA
REP | MMAHET | B |HIOEBEE Y- Bi&® 1 4HA & 4ER 41 35 | 108 1 AREAR 0.86 12 1EHA
ERED | ARMRH] bt |EREAMERBESESHIMUMAREE | —ARER SU4HER ABA/ARER 30 30|24 —A ARl 6 0.60 REF | RER/ARER
RED | MR | WIR  |EEREAMERBESESIMMAKER |EERIR (=lEat 1S 14HR 52 52 [FEEREARA 1 1S 14HA
RE | =#bh | Wb |[BEEAHILHEEYNEUT -3 TRk 2F [Cl{SHA [El{EHR 60 60 | eI U753 RN 1 [El{EHA
REP | = | Wbt EmEHSELEEVN\EUT-3 5wk 3F [Cl{SHA [El1EHA 110 55 |BHEHRIE U753 A B 1 0.02 [El{EHA
REP | = | Wb [EmEHSELEEVN\EUT-a 5Kk 4F [El{EHA [E{EHA 120 60 | V753 R 1 [E{ERA
RED | = | Wbt |EREAMEBEISASLEIRE | ETAERED BESME | BESMH 10 10|y A lRERSRR 1 [ 1.80 0.10 0.20 0.50 7.80 2.00 0.10 0.10 | 11.80 BESEHER
HED | = | bR |[EEREAMEEHSASE @R 5 BEERRAR SUMHR SU4EHR 38 35|22 M —MEARERI 1 | 0.91 0.26 0.11 4.37 1.51 0.26 0.17 2.14 SMEER
RED | = | Rk |EREAMERIISASEEIRET 5 BSTERIR SUMHR [El{EHA 38 35| MHE—MARTR 1 | 0.37 0.94 0.60 0.11 2.46 [El{EHA
RED | = | Rk |EREAMERIISASEEIRE 6 FEERIRAR SR [EHEHA 38 35| MEHR— A A BT 1 0.06 0.03 0.20 1.43 0.20 2.06 [El{EHA
RED | = | Rk |EEREAMEEISASEERPT 6 PETESRAR S4HA SU4HR 36 24| 2 MEHR— AR A BT 1 8.38 31.2 SUEHA
RED | = | Wb |[EREAMERNsASLEIRE  |ERISRER SMHR =ESEHR 12 12| 2MHEH— AR AR 1 0.50 0.42 0.33 106.08 EESEHA
RED | = | Wb |EEREAMEEISASEEIDRET |4BEdLRER [Cl{SHA [Cl1EHA 30 30 [N v7-sa AR 1 [Cl{EHA
RED | = | Rk |[EREAMERIMSASEEIRE  |4REERER [E1EHA [El{EHA 60 60 [HisaiE s PRRA B 2 0.03 0.12 0.08 [C{EHA
HEP | = | bk |[EREAMERHSASCEIRR  |[EHS TR & 14HA 1S 14HR 20 20 |#BANT PRI AR 2 3.00 & MEHR
REP =il wbt  |EEEAMEERSZ R RESHREE | ICURER EESMH | SESME 8 S| EETARE=EENL | 4.38 0.75 1.13 0.25 0.13 0.25 0.50 3.00 39.13 6.00 0.75 35.00 EE SRR
RED =9 Wbt |EEEAMHZRS=HHRESHR |2A%8 S4HA S4HA 56 56|22 MHA—fR ARTAY 1 0.34 0.23 0.05 2.91 0.88 0.23 0.20 6.77 19.9 SMEHER
HEP | = | bR |[EEEAMEERRSZHREERIT [3ARR SR SR 58 58| MR —MeARBTAt 1 [ 0.03 1.02 0.33 0.02 8.79 35.3 SMEER
HEP | = | bR |[EEREAMEERRSZHRREERIT (3BRR S4HR SR 50 50 (SR —A A BT 1 10.34 | 30.6 S4EHR
HED | =T | lR  |[EEREAMEERRES=HPREERE |4FRIR SUMHR SR 59 41| 24— AREA 1 | 0.02 0.44 0.02 0.05 1.41 1.24 6.22 36.3 SUEHA
RED | = | Wb |EEEAMERRS=ERIUEEHET |2BRR S 14HA [El{EHA 58 58 | v5-va AR 1 0.07 [Cl{EHA
RE | =M | b |EREAMERERSBSEEBESHSLH AR |3FERR [Cl{EHA 1214HA 60 55 [ atsnsi0s 1 ABEAR 0.04 1S 1EHA
R | = | b |EREAMERRBEERSISCHIIRR | 2B5ERR [El{EHA [C{EHA 42 39 AN U753 AHRARR 2 [EI{ERA
REP | = | bR |EREAMEERDBEERBRSASSLHIRRE [RERFIR thigen (SmEm) | RBR/ARER 18 O|#m@Z ANBA/ARER
RED | =B | RBT  [RHYT-ZRIEAIL EmAR SUM4HR SU4HR 35 35— ABTAY 3 0.37 0.06 2.09 0.06 0.14 SUEHA
ERED =9 ™t | =Z2=iaiRb 4ATRIR 24HA SI4HA 50 50| MHA—fR ARBTAY 1 0.02 0.04 1.64 0.16 12.08 41.3 SMEHER
RED =9 wbt | =2 aiRb SATRER SU4HER =E S 50 50| 4HEA—A ABTAY 1 0.68 0.02 0.20 0.04 0.64 0.90 0.02 0.02 0.10 7.58 44,7 |SESMH
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SVEF [SueEm| b ML RS AEEABEFIIRIR [El{EHA [El{EHR 38 38|t EiEs PRRARE 2 0.58 0.03 2.9 [Cl{EHA
SVEF [SueEm| bt ML RS AEESKSRERAR |  [C{EHA [El{EHA 28 28 eI U753 AR 1 [El{EHA
EVE |aveEm| bt | FuLEZREERET ZREE 3BERAR thimen (S | RBA/ARER 26 O|BEZ ANBR/ARER
SVE |SVeEm| Rkt SR IYRlT ABE— SRR [El{EHA ANBA/ARER 37 27 (Mg — A BT 3 0.33 ANBA/ARER
SVEF |eVeEm| mbe  |[EWPIURRT 3PETTEERARA & 4HER 1E4HA 40 38 |mERN RSy - 2 1S14EHA
SVEF |sVeEm| mbe | EWFRSURR 3P TIERARB 2 4HA 1E4HA 44 40 [BER ER Ly - 28 1S1EHA
BVRE |2VeEm| Rt |EEEAUNDEIUZNIVIRR SE2RIR {=Eat 12 14HR 48 48| BERIRARTA 1 0.04 (=lEat
SVEE |&weEm| Wb |EEEAUNDEIUZNIVRER 23R =lEat €14 EA 60 60 [FERERIRABTAL 1 1S 1M4HA
BVE |daVeEm| Akt |EREEAUNDSIUINIVIRRE AR €14 EA 1214 HA 60 60 [FRERIRABTH 1 0.02 1S4 HA
SVEF |eVzEm| b |SVeEmIsRk EHCU EESMH | SEEH 14 13|y AzEREEN 1 | 0.46 0.23 0.08 6.38 1.15 41.38 EE MR
SVEE |SWeEm| bt |[SVWVeEmismhe EICU EESMH | RESMH 6 6 [fEnf 2 ABTA 2 2.00 4.17 3.00 | 31.83 | 4.00 119.17 EESEH
SVEE [SVEEm| /b |SWeEmhIis&k GHCU EESMHR | BESEH 16 141 rEREEs 1 | 8.14 1.36 1.57 0.07 0.14 0.43 1.86 | 14.64 | 11.21 [ 1.36 26.36 EERMHA
SVEF |eVeEm| mbe  |[SWeEmhismhe GICU =EIH | SEREHR 8 4| ARSI 1 15.75 =ERMHA
SVEF [SVeEm| b |SVeEmismb 5 B& D JwitR 4R 4R 40 40| MEHA— g ARt 1 [ 0.28 0.08 1.60 0.08 0.70 S4HA
SVF [SVeEm| b |SVeEmhismk GCU SEESMH | SEEHE 18 18 |#remammimE A REREEr 1.28 0.17 11.56 EE SRR
SVEF |suweEm| mbe  |[SWeEmhisAbe NICU =SEI4H | SER4HA 15 15 [#is R espamEaEn 1 7.20 1.33 30.47 EERIMHA
BVE |aVeEm| Wb |2VEmIDREE 6 B AJRIR SR SR 40 40| 2 MERA— AR ABER) 1 0.15 0.03 0.08 0.80 8.20 28.9 2R
BVE |auveEm| Wbt |2VEmIswbR 6 B B iR EESH SR B 40 40| 2 MEEA—MEARERI 1 | 0.23 0.05 0.03 3.08 2.90 0.05 0.15 0.55 4.58 31.1 SRR
BVE |aveEm| Wbt |2VEmiswbE 6 B CHRiR SESUE | BESMH 40 40|2MERA—RRARERI L [ 1.18 0.73 7.35 1.50 0.73 0.03 0.63 5.53 47.7 |SE2M4H
SVEF |sweEm| mbe  |[SWeEmhisAhe 6 P& D fmtR =ESEHA SU4EHA B 38 O| 2 MEHR— AR ABTAY 1 =UMEHR
BVE |auveEm| Wb |RVEMmIDRRE 8 b C IR SES4H | BESM4H 40 40|2MEHA—MEARER 1 | 2.33 0.15 0.55 1.08 2.78 0.15 0.15 1.53 4.25 38.1 |EERMH
SVEF [SVeEm| b |SVeEmIismb 8 B& DI 1R =ER4RR 4R B 40 40| 2 MEHA— g ABTAt 1 | 1.73 0.50 2.00 4.93 50.1 S4EHA
BVE |aveEm| Wbt |2VEmIswbR 7 B AJRIR SR SR 40 40| 2R —AR ABEAL 1 0.23 0.05 1.03 0.20 0.23 0.30 5.33 21.8 SRR
SVEF |sweEm| mbe  |[SWeEmhisAbe 7 P& B iRAR =ESEHA [E{EHA A 40 40| MEHA—ME ABTA 1 | 0.03 1.75 0.03 0.05 0.08 5.85 25.7 [EBl{EHA
EVE |&weEm| b |EVeEmAswEE 7 B& CHRiR =ESEHA 24HEA B 40 40| 2R —ARABER) 1 0.30 2.80 1.95 0.05 0.05 | 13.70 | 37.8 2R
BVE |aveEm| Wbt |VEmIDRER 7 B DRIR EESMH SR B 40 40| 2HEHA— AR AREAY 1 0.45 0.33 0.05 2.98 5.60 33.8 2R
SVEF |SVeEm| mbe  |SLWeEmhismhe TRANT 7 IRER iR (S%mEE) | ANBA/IRER 20 O|#EFNT PR A BTa 2 ANBR/ARER
EVRE |aveEm| Wbt |2VEmInEbR 5 P& B yRAR SESUE | BESMH 38 27/ NBARERESER 1| 1.04 0.33 1.59 1.15 0.33 0.41 0.41 EE2MEA
SVEE [aveEd| B/ |EEEATESARSERE — SRR IS PR SR [EHEHA C 48 48 |itmaEsy A mEREEN 1 0.02 0.08 1.27 4.0 [Cl{EHA
BVE |aVeEm| Wk |EREEAMEEESEHERIT TEERERIRIR SR SESEA 30 232 — AR 1 0.83 0.22 0.13 0.61 1.35 16.61 | 45.8 |EE2M4H
BVE |aVeEm| bt |RUEmRERT> Y- 4PBERIHCU SESUE | BESMH 4 4|71z A R E A 1 1.25 0.25 8.50 2.25 27.50 BE2ME
SVEE |&VEEd| B I’V EETERERT Y- 5BEESCU EESMHE | SESME 3 3|mmmri i AmEREEn [ 0.67 1.00 0.67 4.00 2.00 31.00 | 38.1 |SEZ=4HA
EVZE [&WweEm| bt |[SVEmRERT> Y- 2PEmRIR S4HA EE 2 51 46| 2MERA—RE AR L [ 1.54 0.59 0.52 7.52 1.87 0.59 0.61 9.22 36.7 |=ERMH
SVEE |gWeEm| FRbt  |SVETRERT> Y- 3FEALRR SR SR 54 37/ NRAREREZER 2| 0.19 0.03 0.05 0.32 0.03 20.00 | 21.7 SR
BVE |aVeEm| bt |RUEmRERE> Y- 3FEEERIR SR SESME 47 33| MR — A ABTAY 1 0.03 0.03 0.79 0.06 25.67 | 55.6 |=EE2MHR
SVEF |2V zEm| ke |SVEEFmREERE> Y- 4FE1LIR1R 24HA SI4HA 47 47|24 AR 1 | 0.47 0.55 0.68 0.98 6.62 33.9 24EHA
BVRE |2VeEm| Rkt |SVEmRERE> Y- ABSEIRAR SR [Cl{EHA C 43 43| 2R R ARER) 1 0.02 0.28 0.05 0.02 1.19 0.79 0.02 9.42 24.5 [Cl{EHA
SVEE |EWeEm| FRbt  |SVETRERT> Y- SR LR SR [E{EHA C 44 44| 2R ARER L [ 0.02 0.09 0.27 0.70 6.20 20.5 [E1{EHA
SVEF |2V zE| Fke  |SVEEmRERE> Y- SREFaRER [Cl1EHA [Cl1EHA 47 47 |mrEsmune: v5-savm A B 1 0.02 Ep=kE
SVEE [2VeET| TRbe  [HERBAEEAS T TG EEERT Y~ [ABELBENICURR 24HA [CI1EHA C 20 20 [Hhisk—A A BeAd 1 0.15 5.90 1.15 11.0 [CI1EHA
SVEE [EVeEm| bt [HESBIBEAS T TS EEERT Y- | AEE4PERR 8 14HA & 14HA 48 A8 | IR B IR A At 1 8 14HA
SVVeE |EVeEm| Wbt |HSBABEAS T TS EERMIR TS — | ANEESRERAR 8 14EHA & 14EHR 48 A8 |HFARE BRI R A TR 1 & 14HR
EVZE (&VeEm| bR |ERRER ABEIRIR SR SESE 34 34(2MHA— AT 4 | 0.06 0.03 0.03 0.21 0.97 0.18 0.03 0.97 24.8 |BERMHA
EVZE (&weEm| b |EERRET SRERAR SR [EHEHA C 47 47| 2HH— AR AR 4 0.74 0.13 0.47 0.36 16.4 [E{EHA
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MaEARITHWSIER

EESEH - SMOXSERIXDR 1] XBEZRLIEREZEE

B EEIOR SRR 2 ] xEEsmr I AR EM

~ e S A Bn C D E F _ G _H I J K Ln M_ N 0 P s
HERES X =) 7 JEABEAS | T 4l i Fifa & Fft s s, HE e . S (BE) (prs |ymeae (F318)
I1:31%
2.0 0.5 0.5 0.0 0.0 0.5 0.0 0.2 0.2 8.0 2.0 0.1 0.1 1.0 | 10.0
I:29%
BVE |aVeEm| Rkt |1ERERk EPERIR SUM4HR SESEA 47 47| 2HH—M AR 4 | 0.43 0.28 0.04 0.04 0.62 1.04 1.09 0.28 0.30 0.47 27.1 |BE24H
EVZE (&weEm| b |1ERRET 7PERAR SMHR [El{EHA C 47 46| 2MEH—MEABEAR 4 | 1.09 0.61 1.43 0.63 27.4 [Bl{EHA
SVEFE |eVveEm| Wb |3ERIRET 3FETRIR [CI1EHA EI7=): 51 51 |Eresaune vr-sammar 3 0.02 [Cl1EHA
SVEFE |2VeE| Rl |EREAHERRATOERAEXF MY [ICU EESMH | BESEH 8 8l EEram=agEn3 | 4.63 2.25 1.75 0.13 0.25 0.63 37.63 | 5.50 2.25 33.25 EERMHA
SVEE [SVET| Wt |EREAHERRAZOERASAT A S—  |4ATRIR EESME | SES4RR 50 50| MHEA—ARAREA 1 | 1.38 0.68 0.14 0.12 5.70 2.30 0.68 0.02 0.08 7.36 45.5 |SESMH
SVEE [SVEm| Rt |EREAHEBRAROERASIT NI I—  |6BIRIR =ERIEHR [El{EHR A 49 49| MHA—ME ARt 1 | 0.12 0.67 0.43 0.08 8.73 20.5 [Cl{SHA
SVE [SVeEm| Rt |ERsAHEBRRAROERASF M- |4BHCUSRIR =2EIEH | SERIEHE 4 (o) [RUAARISN 3= =5 2o B BERIEH
SVE [2VEEM| R |ERsAHERRAROERASXF M- |SBHCUSRIR =SEI4H | SER4HA 4 4| MrPLZy A BRI 1 0.25 0.25 10.25 | 0.50 34.00 EERMLHA
SVEE [SVEm| K |ERsAHERRAROERASAF M- |6BHCURIER =EIUH | SEREHR 4 4|y AREREER L [ 0.50 4.00 2.00 41.00 =ERMHA
SVEFE |3VWeEm| R |EREAHEBRAEOERAENT M- |SARER REHER REHA 51 S1|=MH—mg AR 1 | 0.92 0.06 0.22 1.73 0.06 | 10.02 | 44.3 S4EA
SVEE |aVeEm| R |EREAHERRAROEEAEATAIES—  |6ATRIR SRR =4ER 51 50| HHEA—AR ABTAY 1 0.04 0.02 0.26 0.84 0.04 1.74 7.68 25.6 SRR
SVE [SVEET| B |EREAHERRAZOERASIFAIS—  |4CHIR SU4HEA SU4EHA 22 8BNS PRIERA BT 2 1.50 0.13 1.25 SUEHA
SV |3VEE| Rkt |EEEAHERRARORRASESATIIE - |4BIRIR S4EHEA [E{EHA C 47 19 (MR —AE ABTAY 1 3.68 [El{EHA
SVEFE |3VWeEm| R |EREAHEBRAEOERAENTMILS- | SBIRIR R4EHER [El{EHR 47 47 (2R —fe AR 1 | 0.11 0.04 0.02 0.38 0.47 9.09 19.4 [Cl{EHA
BVE |2VeEm| Mkt |BBRRAESILSWZE B SMHR [CI{EHA C 28 28| —Aig ABTAt 3 1.21 0.04 2.75 [EHEHA
SVEE [SWeEm| bt |SWVEETR R FEIRAR A SESUE | BESMH 16 16| e AR 1 0.94 0.19 0.06 0.19 1.25 2.88 3.44 3.19 0.19 0.13 | 149.38 BESER
EVE (&weEm| BT |EWVEEIR R SRR B =ESEHA SU4HR B 20 20|22 MHR— M ABTRl 1 | 0.15 0.50 0.55 0.20 | 45.45 | 56.0 SMEHA
SVEE (EweEm| b |SWVEEIR R HCU EESME | BESME 8 8[mrriamEEEEN 1 [ 6.13 2.00 1.75 0.13 | 22.00 | 6.88 2.00 2.63 EESEHR
SVEF |SueEm| be  |SWEEdR+FRb ICU =2EIEH | SEREHE 8 8l Eeram=aEEn2 | 4.75 0.25 1.38 1.75 3.13 | 30.63 | 7.38 0.25 50.13 EEREH
SVEE [SWeEm| bt |SWVeETR R MFICU SESUH | BESMH 9 O [eemmmerarensenn @ann | 0,11 2.00 24.33 EESME
EVE (&ueEm| BT |EWVEEIR R NICU BESME | BESMH 3 3 |remmremammEe 2 7.67 EE2MEA
SVEE (&weEm| b |SWVEEIR R GCU EESEHA SU4EHR B 6 6|2 MEEA— A AR 1 0.33 SR
SVEE [SWeEm| b |SWVeER TR CCu SES4H | BESM4H 14 14| S A BT 1 3.43 0.29 0.79 0.29 0.93 5.79 | 24.14 | 6.43 0.29 0.07 | 31.36 EESEA
SVEE [SWeEm| bt |SWVeER R SPETEIRAR EESMH S4ER B 41 41| 2MHH— AR AR 1 0.12 0.05 0.56 2.73 0.07 3.46 42.9 SR
SVEE [SWeEm| bt |SWVeEIR R OPEERIRAR BESME | BESMEH 41 41|22 MR ARSI L [ 0.56 0.51 0.39 3.66 1.78 0.51 0.02 1.02 5.68 44.7 |SE2M4H
EVEE (gweEm| Rk |EWVEEIR R OBEPEIRIR BESMHE | BESME 40 40|2MHEA—MEARERI 1 | 0.60 0.50 0.45 2.05 2.08 0.50 0.08 0.78 5.68 41.9 |BE2M4H
SVEE [SVeEm| b |SWVEER TR 10BEERIR EESH SR B 41 20 (2 MEEA— AR ABEAY 1 0.05 0.05 0.10 | 14.15 | 38.7 SEHR
SVEE [SWeEm| ke |SWVEER R 11 PETESRAR EESMH SR B 41 41|2MR—MEARERI 1| 1.93 1.05 2.15 0.10 2.59 49.3 SEHR
SVEE [SWeEm| bt |SWVEEIR R 13FETESRAR SESUE | BESMH 41 41|2MH—RE AR L [ 1.56 0.20 1.15 4,22 1.90 0.20 1.12 2.76 38.5 |[EES4H
SVEE |aVeEm| bt |SVEER TR 14BEERRIR EESMH | SESME 30 30| 4EA—AE ABTAY 1 1.57 0.10 0.13 0.03 4.53 2.07 0.07 0.63 2.53 34.1 |[SESM4H
SVF [SVzEm| bt |[SVFERTFRbt SCuU EE S 4R B 6 6| —fe AR L [ 0.17 4.67 0.50 0.17 40.1 S4EHA
SVEE [SWeEm| ke |SWVeER R 14FETESRAR =SESME | REA/RKR 30 OS2 MEEA— AR ABTAY 1 ANBR/ARER
SVEF |2VzEm| bt |SVEFER TR SRETRRER SU4ER S4EA 38 38| MEHA—AxARTAl 1 | 0.45 0.26 0.03 0.13 1.95 0.26 4.47 52.6 SU4HER
EVE (&weEm| BT |EWVEEIR TR 10BE&TESRAR S4HR SU4HR 41 41|2ME—MEARERI 1 | 0.15 0.15 0.07 3.32 0.17 0.15 0.15 2.41 3.46 39.0 SMEHA
SVEE (EVeEm| Rk |SWVEER R 11PEERRAER SUM4HR SESEA 40 40|2MEHA—MRARERI 1 | 2.05 0.03 1.03 2.15 0.03 0.20 2.63 54.5 |SE24HA
SVEE [SWeEm| ke |SWVEER TR 1 2BEERIR SRR SR 40 40| 2MEHA—RAEABEAL 1 | 0.78 0.13 0.35 0.70 3.40 0.13 0.33 2.98 34.4 SEHA
SVEF |2VzEm| ke |SVEER TR 12BEFaRER SU4HER SU4HER 39 9|2 —g ARt 1 | 0.62 0.23 0.10 4.31 2.95 0.23 0.03 1.74 3.59 45.0 S4HA
EVE [&weEm| BT |EWVEEIR TR 13BEERIRAR SU4HR SU4HR 39 39(2MHA— AR ARER 1 | 0.03 0.05 0.05 0.72 0.15 6.08 1.59 28.4 SMEHR
SVEF |aveEm| b |EREEE AR YIS 0Ot TN ERR [El{EHA & 4HR 40 26 | 7 5 1 ABREAR 19.35 4HA
SVEF [SVeEm| kb |ERELEEE AP YIS O HEDIRIR [El{EHA & 4ER 10 10 [t 759 1 AREAR & 4HA
BVRE |dVeEm| Rkt |EREEAMEERSSVEEWRET |SUC EESMH | BESMH 3 3wz amEmeEEs [ 1.33 0.67 4.00 1.33 46.67 EESEHA
EVZE |&WeEm| bt | EEREAHEHERSSVFEFEWRT | —HIRER S4HA [El{EHA C 27 27 | —AE ABTAY 1 0.19 0.15 0.44 2.78 [El{EHA
BVE |aVeEm| Rl |EREEAMEERSSVEFEWRIT | EEERIR [E1{EHA [E{EHA 60 60 |EHERIIE 753 AR AR 1 [El{EHA
SVEF |SVVeEm| Wb |moimsdpmEmmsssemse eEmERe> s - (NAF 4R REHA 54 S53|2MHA—mE ARl 2 | 0.57 0.25 0.08 0.08 1.19 1.17 0.25 0.15 7.43 36.5 SRR
SVEE |SVEEm| Rt |eoaBE tEERsemms R mERt s— |NGF 24HA [E1EHA C 51 41| 2 MEER—RR ABTAY 2 0.02 6.54 23.6 [EI1EHA
SVEF |SVVeEm| Rbe  |mriies ApeEmssbene e ERe>s- NSF [El{EHA [Cl{EHA 58 58 |tthis iy PRRARA 1 0.57 8.72 5.8 [El{EHA
SVEF |2aVzEm| bt |SVeFREE IR 4PETRER S4HA [El1EHA C 72 47 | S24EA— AR A BTl 4 0.02 0.66 0.15 0.06 2.00 20.9 [El1EHA
SVEF [SVzEm| b |SVeFRER =R 5P FEIRAR 4R =S4ER 32 28|24 HA—A AT 4 | 1.18 0.25 0.11 4.04 1.57 0.25 1.43 =3 S4HA
SVEF [SVEEm| &b |SVFE b 3PEIRAR [El{EHA [El{EHA 55 49 eI 553 AR 3 [El{EHA
BVE |aveEm| Wbt |2V Rk SREERIPIR {=Eat 12 14HR 40 38| EEREARTA 1 1.92 0.03 (=lEat
SVVeFE |gVeEm| Wb |BERINEERTS - 5B (GCU) BEES4H | SESMH 42 4 | mEEE A e 0.93 EESMEER
SVEE |eweEm| bt |[BEERIVNEERES Y- 4B (HCU1) SES4H | BESM4H 13 13|/NRAREESER 1 [ 0.92 0.08 0.23 4.15 0.92 0.08 18.54 EESEA
SVEF [SVeEm| Wbk |[EEEINEERTS Y- 5A (NICU) =ERME | SER4ER 30 30|memmEnranzant | 0.03 0.23 10.60 | 0.03 0.17 | 11.80 =ERAER
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EEANITHVSIER
EESMR - SMHOXDERIXDIR 1] xBE2ELIEBEZEE B - EHEHIOR SRR IR AR 2 | B s B s AR
A - . . A Bn C D E F _ G : H I J K Ln M i N 0 P oy
EmE | BEA | X5 R, bR T%@%@ e, /;:/9‘—0; ?ﬁ_ﬁf v | BEER T o |t | g (FEE o oo il i o IOV s ol i e ety e
HETRES X B=E) e e Fii - Fi pe 2R e zEEg |EE - s (B |piz  |rwsse (B18)
I1:31%
2.0 0.5 0.5 0.0 0.0 0.5 0.0 0.2 0.2 8.0 2.0 0.1 0.1 1.0 | 10.0
I:29%
SVEF [SuzEm| Wk |[BERI/NEERTS Y- 4A (PICU) =EIH | SEREHR 14 14|)eseepanzgey | 4.00 0.14 6.21 2.50 | 24.50 | 4.07 15.43 =EER4ER
SVEF |eVzEm| Fke B ERERIVNEERTS Y- 4B (HCU2) EESMH | SEMH 7 7[/MNEAREREEM 1| 8.57 0.86 0.57 0.14 1.00 9.29 0.86 53.71 EE SR
SVEF |2V zEm| ke |BEERRIVNEERTS Y- 9A S4EHR EES4EA 28 28|/ NEAREREEEN 1| 2.04 0.29 2.39 2.04 0.29 0.11 0.75 EES4EA
SVEF |2V zEm| Rk |[EERRIVNEERTS Y- 9B SU4ER =E S 28 28|/NEAREREEN 1| 2.14 0.04 0.57 2.21 0.04 0.04 0.54 EE SR
SVEF |aveEm| ke |[BERBIVNEERTS Y- 10A SUMHR =ESEHA 28 28|/ NEABREREIEN 1 0.50 0.04 0.14 3.64 EESUEHA
SVEF |2V zEm| Wb |EERERIVNEERTS Y- 10B S4HA EES4EA 28 28|/NEAREEEEMN 1| 0.07 0.18 1.86 0.07 0.39 0.18 EE SR
SVEF |2VzEm| ke |EERRIVNEERTS - 11A SEHR =SR2 28 27/MNEAREREER 1| 0.37 0.07 1.37 0.41 0.07 0.04 1.33 EES4EA
SVEF |aweEm| bk |[EERIVNEERTS Y- 11B SR =E SR 28 28|/ NEABREREIEN 1 0.18 0.04 0.04 4.07 0.04 EESERA
SVF [SurzEm| Wbk |[BERI/NEERTS Y- 12A SHA =E S 36 36[/MNEAREREEM 1| 1.00 1.08 1.00 0.03 0.47 EESMEER
SVEE |eweEm| bt |[BEERIVNEERES Y- 5B (—fi%) SUM4HR SUM4EHR 6 6| SRR —AR ABTAY 1 SM4HA
SVEE |SWeETh| 2P |EREAANRAER SUMEHR [El{EHA C 17 17 | BRESEFR A BT 0.35 [El{EHA
SVEE |SVzEm| 2R | DBy SHA S4EA 15 15|BRZEFRARERE| 0.67 2.33 SU4HEA
EVE |&WeEh| 2EP |BRBER SU4HR SU4EHR 8 8|2 ABRE AR 0.50 SMEHA
SVZE (EWeEm| PR IEESRIER SUM4HR [Cl{EHA C 19 19|BRZEFIARESRRN | 0.11 0.26 [El{EHA
SVEE (Vg | 2B |EEEANUDESNUDESER AR 24EHA S4HA 19 14| BREZEFRAREARR| 0.86 0.21 0.64 1.64 0.21 24EHA
SVEE |SWeEh| 2T |EREAMEBERFHLT(RIUZY) SU4HEA SR 14 14|BRZEFRAREAR | 0.07 0.29 SUEHA
SVEF |aVeEm| 2T |EIRERARIIUZYY SU4HR SU4HR 8 8|2 EA ABREAR 0.63 SMEHA
SVE |EWeEh| 2R |EREARSHER SUMHR SU4EHR 10 10| BRZEFIAREARR 1.40 SMHA
SVEFE |aVeEm| 2P |LOS SRR E iR ARIIUZY) iR (SamEE) | ARBB/ARER 4 O [emmmeronssmm rormmomsa. A<BB/AARBR
SVEE |SWeEh| 2T | ABRRIVUZYY SU4HA ANBR/ARER 3 2| \aRE PR A B EAR ANBA/ARER
SVEF |aVeEm| 2T |hEPEEBRIALPIRIVUZYS S4HA SU4HR 2 2| a2 ABREAR [ 1.00 4.00 SMEHA
SVE |aweEm| 2EFT | ARSI BIERIERT SMHR ANBR/ARER 19 10|/ aFREZEFT ABRE AR ANBR/ARER
SVEE |SWeEh| B2 |SWeEDE0FRTIZY) =2MEHR SRR 19 10| BRZEFIABEARR 4.40 =2MEHA
SV |eVeEm| 2B |EREAMEEBERTY NIAASZIUIYY S4EHR SI4HA 3 3|BRZEFAREARR 24EHA
SVEFE |2VzEmh| B2 |SVEEHREIYZY) S4HA S4EA 18 18| BRZEFIARERE| 1.39 0.89 6.89 0.89 S4HA
EVE |EWeEm| 2P | AREFEm ARIERT SUMHR SU4EHR 19 19| BRZEFIAREARR 0.05 1.74 SMHA
SVEFE |auweEm| 2P |FAULT—RIUZy) [Cl{SHA ARBA/ARER 1 O [ cronmsan rormmomuy ARBA/ARER
SVEE |2VeE| 2T |EREASHER SUEHR SU4EHER 14 14| BRZEFRABREAR 0.64 SMEHR
EVZE |&WeEm| 2P |FREDOALPIVUZYY S4HR SR 19 18| B EFR A BREAR 5.89 SUEHA
EVEE (&weEm| 2T | EIRBIER SUMHR ANBR/ARPR 1 1| BBREERFT A BT E AR ANBA/ARER
SV |eVzE| 2B |(FUHVERES - Y S4HA S4HA 2 2|BRZEMMAREAR| 1.00 31.50 0.50 S4EHA
SVEE [&VzEm| 2P |0-ANAZ749U=v) 24HA S4HA 19 18| BREZEFR A REAR 0.06 0.44 S4EHA
SVEF |QVeE| 2T |EREANERER iR (Smin) | ANBE/AKRER 0 O| B2 A bR ARy ARBA/ARER
B | FRE] | & |[EREACEZRSFRKR 2ATRIR S4EHEA SU4HR 32 32|22 MHR— M AR 1 | 1.09 0.28 0.06 0.09 1.84 1.25 0.28 0.28 | 11.47 | 41.1 SMEHA
B | FRE | &t |[EREAHEZRRRFERKR 2BJRIR SUM4HR SU4HR 37 7|2 —MEARER L | 1.27 1.70 1.32 7.05 45.7 SMHA
B | FRE | & |[EREAHEZRRSFERKR 3FRIR SMHR [El{EHA C 42 42| 2 — AR ABEAY 1 0.60 6.67 14.8 [Cl{EHA
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FEp | PR | bt MITECE AEDREETEIE E okl | SRSRAR 24 [E14EHA C 50 46| 2 MRA—MEARBTRI 1 [ 0.78 0.17 0.89 3.96 25.2 [E1{EHA
e | PR | Rk [IATECEAE RIS E oh Rl [4RSRR S4HR S4HER 46 41|2ME—MEARERI 1| 0.39 0.02 0.10 0.15 0.07 2.63 0.80 0.02 0.17 8.15 30.3 SR
P | PR | Rk [TECE BRI E oh Rl | SRERIR SR [Cl{EEA C 50 43/NEAREEEEM 4| 1.00 0.14 1.35 0.30 | 14.21 | 22.9 [E1{EHA
FEp | PR | bt IRITECE AEDRRAETEIS E okl |6RSRAR 2R SR 50 46|2MEHA—MR ARSI 1 | 0.78 0.39 0.13 2.28 1.46 0.39 0.59 7.39 34.2 | 248
S | FORM | AR PHTECA AEIDRB ST Eoh Rl | 7PERAR igep (SmEm) | RBA/ARER 50 22| 2 MHEHR— A A BT 1 7.55 22.7 | ABA/RER
EEp | AR | AR IRITTBUA NE DR AAETES Ehoumht |NICU wirh (Smr) | ANBA/ARER 9 O|ELEZE ANBA/ARER
FEp | PR | bR [IRITECE AEREREETEIE R thoklt (GCU thigen (SR | ZRBA/ARBR 16 O|fBOZ ANBR/ARER
mEEd | AR | Wbk |BEERKERIR EhiaE=E =EIUH | SEREHR 8 7|eeharzaEEn3 | 7.43 1.14 1.29 0.14 0.43 7.57 | 32.29 | 10.29 | 1.14 2.86 =ERMHA
EEp | PR | WlR  [BAEIERIKERIRT R4 SR S4HR 41 27 NRARERESER 2 | 1.11 0.30 0.22 0.11 1.89 2.37 0.30 4.74 24
Ed | FUR™ | Wkt ([PAEERIKERIRRT 6 M S04 S4HR 26 16|/NEAREZRE®RR 2| 0.06 2.88 0.06 0.13 6.38 2R
fEl | FoRM | ke |BEERIKERIR R 8 SU4ER =E S 54 42 |rmsemm—momm s van [ 0,76 0.07 0.19 0.02 2.33 0.93 0.07 0.05 0.90 9.07 EES4ER
EEp | FUR™ | WR  [BAREIERIKERIRET HIBE 2R S4HA 54 47 |emscrre sz amman | 1,53 0.32 0.40 7.02 1.77 0.32 0.06 0.96 2.79 2R
R | FUR™ | WR  [BAEIERIKERIRT BH10P8 2R 24 54 40 |wemsemn—wmmr s mess | 0,15 0.15 0.08 0.08 0.03 0.08 1.83 0.88 0.15 0.08 | 4.73 204
Ed | FUR™ | Wkt ([PAEERIKERIRRT H11B% SR SE SR 48 44 |wemsmr—gmmr s  men [ 0,27 0.07 0.55 3.39 2.77 0.07 0.32 5.25 BE2ME
FEd | PUR™ | Wk [PAEERIKERIRT H12p SR [Cl{EHA C 48 45 |emsemn w7y msn [ 1,47 0.31 2.22 1.60 0.67 1.47 [E1EHA
Ep | PR | Wk [BAEERIKERIRT HaL>5- SES4H | BESM4H 4 4| fEniE A BT 1 0.50 7.00 2.50 | 26.50 | 2.50 39.00 EESMEA
e | FUR™ | WlR  [BAEIERIKERIRT 78 5 B 2R S4HA 45 43 |wemsmn e w072 0.16 0.56 1.72 0.12 0.37 2.47 204
Ed | FUR™ | Wkt [PAEERIKERIRRT 78 8 fi& S4HA S4HR 45 34 emrn—smmr e | 0,18 0.03 0.03 0.94 0.41 0.03 2.29 2.56 SR
Ed | FUR™ | Wkt [PAEERIKERIRRT 78 9 f& S4HR ANBA/ARER 43 13| e 3.54 ANBA/ARER
wEEp | FORM | Wb |EZEEBVN\CEUT-23 ATk | 3 BETERER [El{EHA = 4HR 40 20 |retngs 108 1 AREAR 12 14RA
FaEd | PR | Fbe  |ERZEEEVU/N\EUT-3 5wk | 3 BEERER [Cl{SHA & 4HR 40 21 |t 108 1 ABEAR 4HA
mEEp | FUR™ | kR |EXEEEV\CUT-Sa S —fRElR | 4 EERRR [E1EHA [EHEHA 40 13[Hhig— % ABEA 3 0.08 [E1{EHA
wEEl | PR | Wbk |EZEEEVN\CUT-232 AR | 4 BETERER g (Semm) | RBR/ARER 40 O [Hbsk—Aig ABeAst 3 ANBR/ARER
aEd | PR | 2T (EORERAR 2R SR 10 10|EPRZEAT ABREAR 0.90 S4HR
faEl | PR | Z2EA |ERAEAMHEMREFUREIUZY) SRR ANBA/IRER 19 19| BREZEPIABTEAR ANBA/ARER
Ed | PR | 2%EPT (PURIEIREERIIUZYY 24 REA/ARER 8 8| R A BT EAR ANBA/ARER
aEd | PR | 2P [&<BLT =Ry 2R 204 5 5| BRZEFTARREAR 0.40 0.60 SR
aEd | PR | 2%EPT [AREBTFIUZYY 2R SR 19 19| AR BT ABRE AR 2.79 S4HR
s | BREETH | PN |EEEAATHS BREEVUZYY thmen (Smmp) | RBA/ARER 17 O [ cmunsmm ormmomsa, RBB/ARER
FaEp | BRAETD | E2EPT |EREEERARIERR 24 24 15 O|BRZEFR A B EAR 1.78 24
PaEp | EREETH | 2MEPR |[AREETTEREFEBRENELSY-2EM [E1EHA ANBA/ARER 19 19| BRZEFR A BT AR ANBA/ARER
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A =0 | s A B C D E F G H I J K L M N 0 P e
HERES X =) 7 JEABEAS | T 4l i Fifa o Fft s s, HE e . S (BE) (prs |ymeae (F318)
I1:31%
2.0 0.5 0.5 0.0 0.0 0.5 0.0 0.2 0.2 8.0 2.0 0.1 0.1 1.0 | 10.0
I:29%
mEER | PR | 2 |EREARSSEEERAR R4EHER SU4ER 12 12 [BERZEPT A BT AR 0.50 SAEER
S | Bl | 2EAh |IBEER o (S | RBA/ARER 11 O [emsmcmunsssm rormmomsa. RBA/AKER
EER | LT | 2EPR |SvERERAR SR S4HER 19 19| ERZ AT ABTEAR 0.74 24
SR | BRI | 2B |EREAHERERALS SOt Tz [E{EHA [El{EHA 19 19| BRZEFIABTEARR 0.05 [B{EHA
mEEd | PRl | 2P |EREAMEERS ERERKL R4EHER ANBR/ARER 19 19 |BERZEPT A BT E AR ANBR/ARER
| AR | 2 |SHERBARIER SR SR 19 13|BkmAiAlEAR | 0.08 | 0.08 0.08 1.23 | 0.08 SR
mEEd | AR | Z2FEM |EEREAMEIC RS ARG )Y 4R ANBR/ARER 19 16 | cnunmm commomts. REA/4RER
wEEd | AR | Z2FEA |[EREATENZEER ik (Smm) | RBR/ARER 11 O [emssm crontssm ormmomiaL ANBA/ARER
mEEd | AR | 2 |(B) Bies BERIUZY) S4EHER ABA/ARER 5 O [ crunsmson cormmomsL B /ARER
| AR | 2PN | XT (AN AR SR RNBA/ARER 15 15 [emmmenonsmmormmonzee | 0,27 | 0.13 0.93 | 0.13 RBA/ARER
mE | BHEh | 2B |EREAMERERENTZIVZY) SR [E1{EHA C 19 19|ER2EFIAREAR| 0.26 | 0.05 | 0.16 0.16 1.47 1.42 | 0.05 [E1{EHA
FIR | BET | &bk |EREAMEHEERPIEESHKT | 2 ARIR SU4HEA =ES4HA 53 53|24 —fx ARl 1 | 0.36 0.19 0.02 0.11 0.02 1.57 0.81 0.19 0.08 13.55 | 31.1 |=ESMH
FR | BET | KWk |EEREAHEHBERARPIGESHRET | 3 AR S4EHEA =ER4ERA 56 55| MHEA—AR ABEAY 1 0.24 0.04 0.89 0.11 17.56 | 33.0 |EEIMH
FR | gEM | KWk |EREACEHEREEPIESHKET |4 ARER R4EHER =ERERR 39 39|24 HEA—Ax AR 1 | 1.08 0.05 0.36 1.18 0.03 8.23 37.7 |RER4HR
FIR | BEH | &k |EEEAHEHESBREPIUEEHT | 5 ARR [Cl{SHA [El1EHA 41 41 |BrEsmuNe v5-sav AR 1 0.02 [EI1EHA
IR | BEH | &bk |EREAMEHEERTPIESHKT | 2 BRR [EBl{EHA [E{EHA 14 14 |t EiEs PRRAR 2 0.79 0.36 [El{EHA
FR | BT | Rk |[EREAHEEERERPIGEESREE | 3 BRIR EMEHR & EHA 53 53 [rematmess 108 1 ABEAK 0.09 e
FR | gET | A&k |[EEREARBRLEIIZY) B—IRIR R4EHER RUEHA 60 43 (2R — AR AR 6 1.40 0.12 S4EHER
FR | gEm | &k |EEREAUNDE/N-T5Kk 2 TR [El{EHA REHA 30 28| sk —fig A B4t 3 2.11 SAEHER
MR | aEm | AR |EREAUNR/ IR 3 SR 1814 1814HA 40 40 [FERERIRABTAL 1 1S14HR
MR | AT | b |FEIRk 2PEIRIR SU4HEA [E{EHA C 65 53| MHEA—Ag ARt 6 | 0.11 0.28 0.75 [El{EHA
FR | AT | Wb |FHRER 3 PEIRAR R4EHER RUEHA 55 52|24 EA—fg ARt 4 | 0.10 0.15 0.02 0.71 0.27 0.15 0.58 1.83 20.2 S4EHER
IR | ASW | Wb |FFRE 4 BEIRIR SR [E1{EHA C 44 39| 2 MEHA— AR ABEAL 4 0.54 | 0.13 0.36 1.85 13.0 [E1{EHA
FIR | ASH | W |EREALERNERIE —RIAR SR S4HER 30 25|/NB ARSI 2 24
MR | AZH | b |EREATENDREE RECEIES SU4HEA =ES4RA 10 O|MIP1Zy MABREERREHER 1 41.89 EERIMHA
MR | AT | b |ASHEER 35HCU =EIH | SEREHR 4 O|MI7P1y MABRERRE R 1 SE2ME
IR | ABH | Wt |ASHERIT 3PEERIFIR BER SR 49 49 (2RI — AR A BT 1 0.47 0.18 | 0.02 | 0.29 1.53 1543 | 35.2 | 2M4H
IR | ASH | Wl |FASHERE 3BEFEIRAIR BEREE [E1{EHA A 55 S5|2MERA—AEARERI 1 [ 0.49 | 0.05 [ 0.20 0.69 | 0.78 | 0.05 | 0.02 [ 0.25 | 9.64 | 27.1 [E1{EHA
IR | ABH | W |HFASHERE APEERIRAR EEQMH | BEUEH 57 57|2MEHA—AEARERI 1 | 0.74 | 0.65 | 0.04 0.02 2.53 1.54 | 0.65 | 0.02 | 0.16 | 16.30 | 35.8 |[EEZiHH
FR | AZH | b |ASHEER 4FETRIRAR =ER4EHA EHA B 56 56| MHA—AR AR 1 | 0.89 0.02 0.09 1.52 0.02 0.02 10.05 | 41.0 S4HER
IR | ABH | Wl |FASHRERIT ICU BESMH | BESEH 16 16[wegtam=egEn2 | 3.25 | 0.25 | 0.31 0.25 | 0.13 1.25 | 4.81 | 22.06 | 5.00 | 0.25 33.50 SESMHER
IR | ABH | Wl |FASHRERIT HCU BESMH | BESEH 16 16|y amEREEs1 | 1.19 | 0.81 0.25 0.13 | 0.13 0.19 | 0.13 | 6.69 | 2.31 0.81 0.06 45.81 EEEMH
IR | AZH | Wl |HFASHRERE 3BENRHR =R SR B 40 402 MERA—MEARBTR 1 | 1.13 | 0.10 | 0.33 4.00 1.50 | 0.10 | 0.03 | 0.43 | 14.30 | 40.2 | =4
FR | AT | Wb |ASHEER CIRIR =EIMH | SER4EHR 2 2 [Mor1zy AR 1 1.00 0.50 39.00 EERMHA
FR | AZH | T |ASHEER SPEERIRIR [El{EHA [El{EHR 49 40 |EHEsRIL 7-5 AR 1 0.02 [El{EEA
PR | AZ™H | T |ASHEERR SPETRRIR [EI{EHA [El{EHR 49 49 |HEmmINe V-3 1 [BI{EHA
FIR | AS™ fmbt | RE=EMRb SMERTRAR (— AR SEHA SU4HER 48 48| 2 MEA— AR AR5 | 0.35 0.06 0.02 0.52 1.29 0.06 5.56 39.4 SU4HER
FR | AT | b |RE=EHE MEALRIR (—ARAHR) S4EHEA U4EHA 47 47 |2 — A ABTAL 5 0.34 0.49 0.06 4.85 30.1 S4HER
R | AT | K |REEHE (R (7550 [EI{EHA [El{EHA 32 32 |msmne 55 AR 4 [EI{EHA
R | ABH | R |RE=ERE ARG (LI TR 121EHR [El{EHR 72 36|t aEs PRRAR 1 0.22 [BI{EHA
IR | ASH | Kb |FERR 3BEIRIR [E{EHA [E14EHA 54 42 Hilsh—g ARl 2 0.12 2.45 [E1{EHA
IR | AEH | Wk |EERR APEIRIR thirer (SRR | RBA/IRER 60 O|fEE NBR/ARER
FAR | 2R | W |EEREASHRER FREIRIR & 14RA =2 4RR 37 35| FEEREARR 1 1=24RA
FIR | onZE™ | kR BTl IR SR [O14EHA C 80 62|tk —A% ABThd 2 0.15 | 0.05 | 0.02 0.52 | 0.27 | 0.05 0.44 [E1{EHA
FAR | THT | Ak |[HEERENIESRTHESRE HCU =ERME | SER4ER 10 8|1y AREREEN 1 [ 6.50 3.00 2.13 0.38 0.63 0.25 0.38 | 10.50 | 8.75 3.00 38.63 =ERAER
FR | 7HET | Ak |[HEERENIESRTHESRE 2 PEFAIRAR SU4HEA SU4EHA 50 42 (2B —AE AR L [ 0.40 0.14 0.40 0.02 0.67 1.83 0.14 0.26 2.12 38.1 SUEHA
FAR | 1THT | A |[HEREREANIERITHESRE 3 PEEIRIR R4EHER =ERERR 48 42|24 —AE AR 1 [ 0.83 0.71 0.29 2.43 2.17 0.71 0.05 3.36 42.8 |EE2MH
FAR | THT | Ak |[HEERENIERITHESRE 4 BEFIRIR =R A 60 20| 2 MEHA—A A A 1 0.65 7.25 39.7 S4EA
FIR | THT | Bk |HERERENLEERTHESKRB 2 BEFRIRAR SR BESE 49 42 |2ER—ME AR 1 | 0.05 0.02 1.48 | 0.21 0.02 | 4.81 30.2 |BEIM4HR
IR | THT | Bk |HEREREANLEERITHESKRB 3 BEFTRAIRAR p=lia- SI4HR 48 45| 2R — AR ABTRY 1 0.31 0.09 | 0.22 | 0.64 0.11 5.84 | 38.5 | =4HA
FAR | THT | A |[HEREREANIERITHESRE FERIRAR =ER4EHA EHA B 45 37| AR 1 | 0.32 0.03 0.11 0.57 13.35 | 51.3 S4HER
FAR | THT | Ak |[HEERENIERITHESRE 3 PEERIRIR [El{EHR [El{EHR 45 45 | EHEsRIL 7-5 AR 1 [El{EHA
FIR | THE | Bk |HEEREANLEERITHESRB 2 BETEIRIR [E1{EHA [E1{EHA 51 51 |t @iEs PR 2 0.02 [E1{EHA
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e e ARG | 1ERROR| e B | e T igppan e BB ey | BINEPS e b (BB | o oot omms| F5 |10 i (e |[CT 08 (g (o | DHTHR
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1:31%
2.0 0.5 0.5 0.0 0.0 0.5 0.0 0.2 0.2 8.0 2.0 0.1 0.1 1.0 | 10.0
I:29%

AR | 4TE™ | A |[HEEERENEERITHERESRE 3 BEFTPERIR [E1{EHA [E14EHA 44 O |une: v5-sammrnss 1 [E{EHA
AR | 4THE™ | A |[HEREERENTERITERESRE 2 BEERYRAR €14 A 1E14HA 54 54| BEERIRABTR 1 1.15 0.06 1S 14ER
MR | 4THE™ | Wb |[{THPIRESRIT E—IRIR SR 204 54 45|22 MR AR 4 | 0.44 0.11 0.09 1.13 1.33 0.11 0.33 7.53 37.1 S4HER
MR | 4THE™ | W |[{THPRGERET 2B JRIR 2R ANBA/ARER 46 42| 2 MHERA—RR A BT 4 6.57 TEF | /KR
FIAR | fTHE™ | BT [{THPREERRT BRI €A 1214 HA 60 56 [FRERRABTE 1 0.07 0.02 2.4 1E14HR
FIR | ONET | A |EEEALESLASTHRRKE 2B R SR S4HR 57 S3|2ME— M ARERI 4 [ 0.91 0.02 0.55 1.08 4.09 31.0 SMEHR
FIUR | mnzE | ke |EFREARERAASTERE 3PETRAR [Cl{SHA [El{EHA 60 5O |BHEHRIE U7-sa A BRA 1 0.02 [Cl{EHA
FIR | AT | A |EEEATERIT 2FE—RIRIR SR [Cl{EHA 36 35|k —ag A BT 1 8.11 20.6 [E1{EHA
FIAR | miET | AR |[EEREAMEEZSINARRKRR 2PERAR 12 14HA 1214 HA 46 46 | EERFEARTA 1 1.07 0.02 €14 HA
AR | AT | Ak |EEREAEEZRINERRK SRR 1€ 14EA 1E14HA 43 43| EERRAREA 1 1.12 1E14ER
FIE | DIET | FRbt |tembr A BnuEF e EREELmARR |ICU SEESMH | SEEHE 8 8|fEnI 2 ABTAL 1 1.38 0.38 0.50 0.13 0.63 1.50 0.38 9.50 2.88 0.38 70.63 EE MR
FIR | DIET | Wbt |temrsARmuEEsasmaERsEamEmk |HCU SEESM4E | EES4E 12 12|y AmrEmEEs 1 | 0.33 0.17 0.08 0.08 3.00 1.25 0.17 48.08 EESME
FAR | DNZETH | Wb |demwEARBMEREaESEREERNERR | 4 BETRRIR S4EHEA [E{EHA 48 48| — AR ABTAY 1 0.08 0.46 0.21 0.04 5.77 19.2 [El{EHA
FAR | DNZETH | Wbt |demwzARSMERESREEERFERNERR | 4 FEERIR R4EHER SEHA 48 48|24 —AEABTR 1 [ 0.23 0.54 0.63 7.94 36.2 SR
FAR | DNZETH | bt |demwrARsHEFRES RIS ERAERNARR | 5 FETRRR 2R [El{EHR 47 47 |2 —AE AR 1 0.02 0.02 0.83 0.09 0.28 6.77 25.9 [El{EHA
FAR | DNZETH | Wb e ARsMEERESREEEREERNARR | 5 FEERRR SU4HEA SU4EHA 48 48| — A ABTAY 1 0.35 0.02 0.29 0.88 6.96 32.4 SRR
FIAR | ONZETH | Wb |demwEARBMEREaESEREERINERR | 6 FETRRIR S4EHEA SU4EHA 46 46| MEEA—MEABTAL 1 | 0.65 0.28 0.22 3.61 0.87 0.28 0.43 5.43 42.5 SU4EHA
FAR | DNZETH | Wbt |demwEARBMERESESERFERINERR | 6 FEERIR R4EHER RUEHA 47 47 2R —AE AR 1 0.06 3.74 1.00 0.45 5.89 39.8 SEHR
FAR | P&ET | b [FEREERYRERT ARAY S4HA 204 45 26 | — M A BT 3 0.12 4.46 S4HER
FR | PEF | A |EEEARNS PERSHIT ICU SES4E | BESMH 12 12 |weermamsgEns | 4.75 0.33 0.42 0.25 0.42 0.92 0.75 | 12.75 | 5.75 0.33 25.92 EE2ME
AR | PET | AR |[EEREAENS PERESHKER HCU SES4H | BE2M4H 12 1257129 A SR EE RS TRA 1 2.50 0.08 EE2MEA
FAR | P&ET | Wl |[EEREAENS PERESRKT ABEILIRIR 2R SR 60 602 MEHA—REARER 1 | 0.70 0.07 0.08 0.03 1.98 1.05 0.07 0.03 0.15 9.37 37.0 S4HER
AR | PEH | A |EEEAENS HERSHET ABEEERR 24 S4HER 33 262 MEA— AR ABTAY 1 | 0.69 0.12 1.81 1.85 0.23 8.81 54.9 SMEHR
FIR | P&EMm | Fhr |EEREAENE PELSWHEE SREAERER 24HA SI4HA 60 60| EHA—Ax ARt 1 | 0.03 0.03 0.05 1.12 0.23 0.12 10.22 31.3 2I4EA
AR | PES | AR |[EEREAENS PERESHKER S EaYRAR 2R 24HEA 60 60| ERA—RAEABERI 1 | 0.02 0.05 0.60 0.20 0.10 | 14.30 | 30.9 SR
FAR | P&ES | AR [EEREAENS PERESHKT ERE LR 2R SR 60 S4|2MER—RARERI L | 0.57 0.02 0.04 0.09 0.67 8.54 | 46.0 24HER
AR | PEH | A |EEEAENS PERSHEIT RRZYIRAR 1 thimeh (Samab) | ZRBA/ARER 0 O|BEIZ ANBA/ARER
FR | PEH | A |EEEARNS PERSHRIT 3RS EIRAR 1S 14HA 1S 14HR 14 7 |BAT TIRAR AR 1 0.43 1S 14HR
AR | EHE™ | Wb |EHEREE 2 BEIRIR 2R 2R 57 28 |2 MEHA— AR AR 4 1.32 0.04 10.39 [ 16.9 SR
FIAR | =EHET | Wbk [EHERKR B 3R 2R [El{EHA 56 37 |2 — AR AR 4 0.03 0.03 0.05 0.08 0.41 6.73 16.7 [E{EHA
FIAR | EE™ | Kb |EERKE B 4 /&% SR S4HR 56 38(2MHA— AR 4 | 1.13 0.45 1.53 0.03 5.32 36.2 SMEHR
FIAR | EE™ | Kbt |EERE C 47" S04 S4HR 42 29(2MHA—RE AR 4 | 0.76 0.34 0.17 5.45 1.72 0.34 0.14 6.45 31.4 S4HER
FIUR | FHT | &b |EHE®KE C 6 9RtR [El{SHA [E{EHA 31 20 |l EE S PRARA B 2 0.17 0.24 9.3 [Cl{EHA
FIAR | =EHET | Wbk [EHRKER C 3R [E1EHA [E1{EHA 39 28|tumaEs TmEARN 2 | 0.21 0.07 0.54 0.07 0.11 0.39 3.9 [E1{EHA
FIAR | =HE™ | Wbt [EHE®KR A 3JRHE €14 EA 12 14HA 40 40| EERREARTA 1 0.03 1E14ER
AR | EE™ | Kbt |EERK C 5%1R 1€ 14HA 1S 14HA 32 32| EERIRABTR 1 0.03 1€ 14HR
FUR | FHT | &k |[EEREAREERERSEH - OSREE  |ARER & 14ER &4HR 50 50 |mEates108 1 AREAR 0.12 0.40 0.10 0.16 E14ER
FR | =Fh | Wb |FAHR —RIRAR S4EHEA ABR/ARER 25 O | —AEmARIS B A BT A ANBR/ARER
R | =FH | FhR |[EREAFCKEPRL 3FEIRAR [E1EHA [El{EHA 48 45| ik — A A BEAS 3 0.04 0.76 0.11 4.18 [E1{EHA
AR | =FH | R |[EREAFCIEDRL APEIRIR 12 14HA ENVEENES 47 45| O 0.16 0.09 ANBA/ARER
FAR | E=FH | Wb [SoTEILREET 1 PR 1S 14HA 1S 14HA 30 27| EERIRABTR 1 4.96 0.33 1S 14HR
MR | =FH | W |20 TEIRRR 2PERAR 12 14HA 1214 HA 60 52| EERIRABTA 1 0.58 1S 14HA
FAR | =FH | AR [SOTERIDREET 3FEIRAR 12 M4HA 1214 HA 60 53|[FEERRARTR 1 0.25 0.08 1E14ER
FIR | =FEH | R |[HEEEEASUUATLTIHATIAREERERR | 20m \r71ovh | BESME | SE2MH 4 4| M7z AR IR 1 1.50 0.50 10.75 EE SR
FIR | =FhH | Fbt  |[HEEREASY/COXTOLTHA T RRETRERE [3Rmmzrsr1v | SRR | SRR 6 6 iz ABREmEES | 0.33 0.33 0.33 0.33 3.00 0.67 10.67 | 50.0 |EE=M4HA
FIR | =Fh | W |[HEEEEASWCATMLTATIAREEREHR | 2F8RiE SU4HEA SU4HER 29 29|24 RR—A AR 1 0.21 1.38 0.38 16.00 | 22.5 SU4HEA
FIR | E=FH | R [HEEREATSOCHSOLTHA T AREER SR | SEIRIR SR [E{EHA 34 34| 2ERA—REABEARI 1 | 0.29 0.06 1.09 1.09 3.24 18.9 [E{EHA
FIR | =FH | AT [HSEREASY AT AT RREERER | STERIR 24 EE SR 39 39(2MHA— AR ARTA 1 | 1.38 0.72 0.38 3.00 2.90 0.72 0.18 4.28 41.0 |EE2M4H
IR | =Fh | Fbt  |HEEREASY XTI ATV RRETHERR |ABRIFAR [El{EHA [E{EHA 34 34| thsiE s PR 1 0.21 0.74 6.2 [El{EHA
FIR | =EH | FE  |HREEEASUCATMLTA TR E TR AR |4TRIE S4HR SU4HER 43 43| MR ABTAL 1 | 0.65 0.05 1.19 1.44 1.42 33.0 SU4HEA
IR | EET | AR | MATBCEABENDRBAEERIS RRRT | 5 FEYRAR 2R [El{EHA 50 33| — AR AR 1 2.39 0.12 0.42 2.48 21.2 [E{EHA
FIUR | BHM | Wb |MIATECEANEIDRBEHEAERE ERIT | 4 YRR [Cl{SHA [El1EHA 50 45 | BHERINC U5-53 R A 2 [Cl{EHA
FIUR | BHM | Wb |MIATECEANEIDRBHEAERE ERIT | 6 BERER [Cl{EHA ANBR/ARER 30 O |tthisiaims PR 2 BB/ AKRER
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